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QUESTION 1

Which Simplified Routing mode is required when a Virtual SteelHead is deployed in a virtual in-path configuration? 

A. All 

B. None 

C. Destination Only 

D. Destination and Source 

Correct Answer: B 

The None option is required for virtual in-path deployments. 

References:SteelheadAppliance Deployment Guide, Including the Steelhead Mobile Controller, December 2013, page
194 

 

QUESTION 2

What is the CLI command for starting the Configuration Wizard? 

A. # configuration wizard start 

B. (config) # configuration jump-start 

C. # configuration start 

D. (config) # wizard start 

E. restart clean 

Correct Answer: B 

 

QUESTION 3

Which forms of administrative authentication are supported by the Steelhead appliances?:(Select 3) 

A. NTLM 

B. TACACS+ 

C. RADIUS 

D. Kerberos 

E. Local username and password 

Correct Answer: BCE 
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QUESTION 4

Which of the following are considered to be root causes of poor application performance over wide area networks?
(Select 3) 

A. Application protocol chattiness 

B. Transport protocol inefficiencies 

C. Proxy ARP 

D. Insufficient bandwidth 

E. Daylight Savings Time settings 

Correct Answer: ABD 

 

QUESTION 5

Which trunking protocols are supported by the Steelhead appliance? 

A. 802.1Q 

B. 802.1P 

C. 802.1AD 

D. Dynamic Etherchannel 

Correct Answer: A 
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